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Topic:- General and Logical Knowledge
1)

Question Stimulus :-

‘Vocalist’ is related ‘song’ in the same way as ‘player’ is related to / ‘T”®’ Tafdd ? TR
N PR A oy i s wefta g su9

e Game / aQd

®* Victory / Sha

e Match / g

® Practice / W
Correct Answer :-Game / ©d
2)

Question Stimulus :-

Currently, Hyderabad is the capital of / qdq= ﬁ%mﬁﬂmrr—ﬁ %

® Andhra Pradesh Only/aﬁ'ﬁ 3TS U=

® Telangana Onlylmam

e Both Andhra Pradesh and Telangana / S 3fis] U= 3R AT

® Neither Andhra Pradesh nor Telangana / ar sy !II%'QT AR A 'eﬁ CGRIGH
Correct Answer :-Both Andhra Pradesh and Telangana / Y 3riel U SR AT
3)

Question Stimulus :-

A courier agent has to deliver post in 3 streets. Each street has 5 houses. He takes 2 min to
deliver letter in each house and 5min to travel between each house in each street. He takes
20 min to go to the next street. His day starts at 10 AM and finishes off by 3 PM, with no

break in between. / T®% $RUR Tole &I 3 Tl § S1F 41 81 YAS et # 5 WX 31 9t TP W A S1P
A A 2T AR IR G el & R W A 9 # 5 fie @ar 21 9t 3rTell s A w1 # 20 e aar 21
ITST AT Y8 10 T9 T 21T 2 3R UER 3 99 T o1 21 9% 59 99 B R e qn

If in each street only 2 houses has to be delivered with letter, what is the total time taken


Admin
Stamp

Admin
Stamp


%o_qdae_!:]i_‘\.lr(rerthe letters? / AR TAS TH A Fa@ 2 R AT NS, A o fraTama o3 RaRa s &
?

® 60 minutes / 60 fiFe

® 65 minutes / 65 fire

® 67 minutes / 67 e

* 69 minutes /69 fiAe
Correct Answer :-67 minutes / 67 fiFe
4)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below:

/Efirugiaiad SR ITRRETTHSH F AU :

If Govind is a singer then he will sing a song. / 3¢ Mfa< T Ta® g df g8 T
e

e If Govind is not a singer then he will not sing a song./ uﬁTﬁﬁE’WWqﬁ%?ﬁ dg
ATET 8] |

e If Govind is a writer then he will write a story. / af¢ Mfa< t& d@® & a1 98 HerH!
for@wm

e If Govind sings a song then he must be a singer. / af¢ Mfa= =T a1 & Y 98 '

& R |

e If Govind does not sing a song then he must not be a singer. / gfe Miaw =T =81
a1 8 1 98 M Tl ghm|

Correct Answer :-If Govind does not sing a song then he must not be a singer. / gfe

T 74T 18T T @ < 98 M T8l |

5)
Question Stimulus :-

The figure at right represents an unfolded box with designs on several panels. Below are
four drawings of boxes with designs. When folded, which box will it be? / &féor u m
fafia el w fEomsi & a1y e a8 5 ve 9 R 8| R feomsa ar sol 91 IR SE )
Bits B R, B AT I g2



R
RO gt

Correct Answer :

6)
Question Stimulus :-

The first Governor of Madhya Pradesh was AL EI%QT & u%?f equrd Q|

* Ravishankar Shukla / Ifa=i®HR PICHI

* SN Sinha / TH T g1
® Pattabhi Sitaramayya / tlETﬁ-f IGIRR ||

® Hari Vinayak Pataskar / Bﬁ fomae yarReR

Correct Answer :-Pattabhi Sitaramayya / UETTH JraRa@n

7)
Question Stimulus :-

A, M, D and G ran a race. A came third. M was not the first and G was not the last. D
was immediately behind G. What was the order in which they finished? / A, M, DTd G
TS GIs H QIS | A T 3ATATI M UYH 81 4T Ud G 3ifqw =6Y U7l D, G & TebTad NS UT| 98 HH T AT
o S warfa 12



e GDAM
* DGAM
e GMAD

e Cannot be determined / fAuff¥a =&Y forar sir goar

Correct Answer :-GDAM

8)
Question Stimulus :-

In the following question arrange the given words in a meaningful sequence and then
choose the most appropriate sequence from among the alternatives provided below: /

fFrafafad vy o e Irde $U & <) B aaT HY R 3P 918 A T U fiwe § | g9 Suyge
3IHH BT T4 DI

1. Site 2. Plan 3. Rent 4. Money 5. Building 6. Construction
1. ¥d 2. AT 3. fHIm 4. U 5. SURA 6. fAwf0r

1,2,3,6,5,4

2,3,6,5,1,4

3,4,3,6,5,1
°* 4,1,2,6,53
Correct Answer :-4,1,2,6,5,3
9)
Question Stimulus :-

The President of India is / HIRd %?quﬁf % :
® The head of the State / TSI & T
® The head of the Government / X PR %m{@
® The head of the Parliament / m % gy
® The head of the Judiciary / —ITIUTII®T & UHH

Correct Answer :-The head of the State / XTod & Y&

10)



Question Stimulus :-

According to the 2011 Census of India,__is the most populous tribe in Madhya Pradesh. / HIRd ®I 2011 P

SRS JFER, A RN P gad e ut rard) aren aif 21
* Gond /TS
e Bhil/ Hi@
* Korku/ ®RP
 Baiga/
Correct Answer :-Bhil / W
11)

Question Stimulus :-

How many Union Territories are there in India? / HIRd T fora & =mfaa u%‘\’r %?
e 9
o 7
e 5
e 10
Correct Answer :-7

12)
Question Stimulus :-

A team of five is to be selected from amongst flve boys (A, B, C, D and E) and four girls (P,
Q, R and S). Some criteria for selection are: / UTd WS®HI(A,B,C,D, o E) 3R IR
asfrai(P,Q,R,3MR S) H | UTT NN &1 TP W &1 I HIA1 &1 I99 mﬁ-a%:

A and S have to be together. / A 3R S |1Y g1 A1/

P cannot be put with R. / P &1 R & IIY 8l 3@l & Yhdl|

D and Q cannot go together. / D 3R QU®dH 1Y 8l & g d |

C and E have to be together. / C 3R E T& I1Y g1 g d1iev |

R cannot be put with B. / R &1 B & I14 8! T@I S Jhdl|



If R be one of the members the other members of the team are / 3R R daF Ha'\‘!ﬁ Ta Th
BT Y 30 e B

e P,SAD
* QS,AD
* QS,CE
e S,ACE
Correct Answer :-S,A,C,E

13)
Question Stimulus :-

Name the only Indian Prime Minister who never faced the Parliament during his tenure- /

HRA & 39 THHE YUHHA ST A4 FA1¢, S 301 PRISTT & gRE ot off Tog 781 ma-
® Atal Behari Vajpayee / 3[C¢l faerY arerudt
® Chaudhary Charan Singh / e TR i
® Chandra Sekhar/ T°% Q@R
® Vishwanath Pratap Singh / =Ty yaru R
Correct Answer :-Chaudhary Charan Singh / e IR Rig
14)

Question Stimulus :-

In the following question, there is certain relationship between the first two terms. Choose
the fourth term from the following options which has a similar kind of relation with the

third term. / A9 Uy &, tga @ el & v frelt upR A F1$ Hay 3| 9 Aee & § @ur ue g
et iR ug & Iy I UHR T Iy B

Mother: Daughter :: Father : ? / AaT : 9t :: fUar: ?
e Son/ C|
e Brother / 'J-ITs‘
* Boy / dS®I

e Sister / dgd



Correct Answer :-Son / S¢T

15)
Question Stimulus :-

Who is known as the ‘Iron man of India’? / *HIRd & ?ﬁ? gay’ & 919 A B AT ST %?
® Subhas Chandra Bose / JHIV I CIE)
* Bal Gangadhar Tilak / §TSl TR foa®
® Chandrashekar Azad / m 3ATolTq
® Sardar Vallabhai Patel / 9YqIY W‘H"-ﬂg ued

Correct Answer :-Sardar Vallabhai Patel / IIGR deIHHTS Uedl

16)
Question Stimulus :-

Where was Gautama Buddha born? / Tterd & DI ST H W‘EGIT Yr?

* Kundagrama / $erITH
® Kapilavastu / Eﬁﬁ'ﬁ'ﬂ'\‘ﬁ
* Kashi/ BRIt

® Samastipur / Wﬂ?

Correct Answer :-Kapilavastu / ®fUda¥g

17)
Question Stimulus :-

is called the Manchester of India. / &I UIRd BT ﬁ'—lﬁw Dol Sildl %I
® Ahmedabad / {eHGIdI&
® Allahabad / SCITeldlg

® Amritsar / THdAR
° Hyderabad/%mﬁ

Correct Answer :-Ahmedabad / [gHGIdIG



18)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg

faeper g Re @ wyAT v frepsl & ar # T {1
Statements: / ®Y:
Some clouds are hills. / $EIGd Ug3ar g1
Some hills are tombs./ TETISAT HF 3|
Conclusions: / fAsp:
I. Some clouds are tombs. / $EIcd d %'I
II. Some tombs are clouds / $&d digdd %'I
e Only conclusion I follows / *ad sy 1 Aeaar %
®* Only conclusion II follows / Fad foreey 11 frradr %
e Either conclusion I or conclusion II follows / a1 a faswd 1 a1 fpw frepd 11 fApaar @

e Neither conclusion I nor conclusion II follows / 7 df fAswd 1 fAeadr g sk 9 & A
II

Correct Answer :-Neither conclusion I nor conclusion II follows / 9 @ fAwsd 1 frear g

3R 7 g frepd 11

19)
Question Stimulus :-

In the following question, four words are given, out of which three are same in certain
way and the remaining one is different. Find out the different one. / IRCRE] ﬁ, IR Vs f&d
g, o 9 i fodt v @ Ture € SR 19} Uw 3T B| SET 9Td 9T B |

* Bird / faf$a
e Crow / 3T
o Kite / a9
* Pigeon / 9qdR
Correct Answer :-Bird / fafgar

20)



Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg faTea
g, ab st R IR RewHsE FIa= 2 -

If the marks are less then you will not get admission. / ¢ 3i® &H & dl 3MUH! SIfaar g}
forem

¢ If the marks are not less then you will get admission. / gfe e o9 T-Iﬁ%\'-ﬁ 3TYa!

ICEIRECH

e If you get admission then the marks are not less. / gfe smust grfar firear %?ﬁ 3P
U 51 8

e If you do not get admission then the marks are not less. / If¢ 3MUHI griaar &l
frear 8 @ ofw w0 T8 €1

e For getting admission a high score is enough. / 3If@d & foT 3= R w@id g1

Correct Answer :-If you get admission then the marks are not less. / If¢ 3mu®! grfiaan
firerar & ot o ®w e B

21)

Question Stimulus :-

Mohenjodaro was discovered by / Higscs! &1 @S fPAP gRT F 1S A
® RD Bannerjee /m CErid
® DayaramSahni / GAIRTH m
® George Jule /\_rl"l’ﬁ [ d
® AV Alexander /T a Eﬁ'ﬂ@'@ﬂ'

Correct Answer :-RD Bannerjee / RS TSI

22)
Question Stimulus :-

Ratio of width of India’s national flag to its length is ./ HIRd & Tl'@'q ol Bl m ?ﬁ?ﬂ% BT Murd %I
® 2:3

® 1.5:2



® 1.5:3
Correct Answer :-2:3
23)

Question Stimulus :-

Who did Sarojini Naidu succeed as President of the Indian National Congress? / fPad WM W R arag
HIRATT T ST BT reaed a2

® Vallabhbhai Patel / GEAHHTS Ued
® Bhagat Singh / HITd g

® Mahatma Gandhi / HeldHl e

* Lord Mountbatten / ATS HTdede

Correct Answer :-Mahatma Gandhi / HgTeT TS

24)
Question Stimulus :-

Select the option, which is the logical equivalent of the statement given below: / dg IGES
gReab st AR R TU s F auH 8 -

If the man is crazy then he will jump from the tower. / af¢ 3eHt TAH! § d 98 <R A Te
SITET |

e If the man is not crazy then he will not jump from the tower. / gfe emeHt It :I'é']%

a1 98 eTaR | Tl P!

e If the man jumps from the tower then he must be crazy. / af¢ 3l TR A Fear &
ot 98 J@! ghmm|

e If the man does not jump from the tower then he must not be crazy. / af¢ 3nmgHt

AR q T& Baar € a1 a8 P! T grm|

e If the man is not crazy then he will use a parachute. / gfe et It Hﬁ%?ﬁ dg
TS BT TG S|

Correct Answer :-If the man does not jump from the tower then he must not be

crazy. / 9f¢ 3t ereR A T8 Tear § A 98 J@! 8l BRI

25)

Question Stimulus :-



A O B means A is the sister of B, A 4 B means A is the father of B; ASB means A is the
brother of B, which of the following means that X is the aunt of Y? / A 6 B &1 Hddd % A, B

P TETL, ALBITAAUT R A BF UG S; ASB ST Haae 2 A, BITHE &, AU d A pusr naaa & &
X, Y 91 3idl 82

e xoD2Y
e x®DFyY
e x%poay
e x D2y
Correct Answer :-x D2y

26)
Question Stimulus :-

The Constitution (122nd Amendment) Bill, 2014 is related to: / T (T [ ISl GxeH) 99U, 2014
frad dfta 8:

® Goods and Services Tax / 9%g Td |ar

* Right to Education / FRI&T &7 SReR

® Right to Services / T BT SATUBPR

® Right to Food Security / WTel I &T PR

Correct Answer :-Goods and Services Tax / %] Ud |al &

27)
Question Stimulus :-

Name the shipyard situated on the Konkan coast? / PipU de W R Ruars o1 a1
 Cochin /@A
* Kandla/ BISET

® Mazagon / HSIIId
® Visakhapatnam / fa=maTT

Correct Answer :-Mazagon / H3RTid

28)



Question Stimulus :-

Six people A, B, C, D, E and F are sitting on the ground in a hexagonal shape. All the sides
of the hexagon so formed are of same length. A is not adjacent to B or C; D is not adjacent
to C or E; B and C are adjacent; F is in the middle of D and C. / &: anT A,B,C,D,E 3R F o
TR YCHIUNG AT W 9 &1 TeHhIvr ot T a1oei Fl das T THF I BACHF TTA A A el 8; CATE
FTAADTENE; BARCTAHAE; D 3R C & &9 F B

Which of the following is NOT a correct neighboring pair? / fgddsa ?ﬁﬂﬁ\‘rﬁ@ﬁq@'\‘ﬁqﬁ
g2

e AandF / A3IRF

e DandF /D 3RF

e BandE /B3R E

e CandF /C3RF
Correct Answer :-Aand F / A 3R F
29)

Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / dg fawe ﬂﬁ'l;f
St f3T T Sy wd fAepuf & 9R A 9L 2

Statements: / $Y-:

All boats are cars. / I A9 R %'I

All cars are planes. / 93 1 fauF g1
Conclusions: / e

I. All boats are planes. / I. 94 9@ fauE g1

II. All planes are boats. / II. I A Ad %'I
e Only conclusion I follows / ¥ad forepY 1 fAwear &
¢ Only conclusion II follows / Fad frsey 11 freadr %
e Either conclusion I or conclusion II follows / a1 dl At 1 a1 fier fAsaedf 11 Frpaar @

e Neither conclusion I nor conclusion II follows / a1 forssd 1 foadr g s 71 g oo
II

Correct Answer :-Only conclusion I follows / *ad fareed 1 fAeadr %



30)
Question Stimulus :-

Phanish when going to a pub found that he can’t take the right turn as it was blocked.
He was forced to turn left. What is the possible course that he can take now? / w3

TP U9 oTd g€ UrdT % a8 Qe wis 98 & Woar i 98 9 3av s §1 98 91 81 W AegR 8l
T B 3t fezmed ® g o Sud firw dva @ 2

e Left, right, left / 91T, 14, 9T¢

e Right, right, left, right / €@, g, 9T¢, <A

e Right, right, right, left / &/, 3, g™, 91¢

e Right, left, right, left / g/, 9TY, g, 9T¢
Correct Answer :-Right, right, right, left / g1, g/, gd, 91¢

31)
Question Stimulus :-

“Swarna” is another name for ./ "EIO" BT QT ATH g |
e Tapti/dTwil
® Chambal /I9d
® Narmada/ m
e Son /T
Correct Answer :-Son / |IF
32)

Question Stimulus :-

If Monday means a lousy day, and it's a lousy day today, then it’s not Monday. / gfe
HHAR P Adad TP dgd WRT9 & 8, 3R 3ITel 98 &4 e @, ) o JiHar & 21

* True / Igl

False / TTdd

May be / B 9&dl &

Irrelevant / 3RS



Correct Answer :-May be / 8 I&dl &

33)
Question Stimulus :-

How many central prisons are currently present in Madhya Pradesh? / JAHT | Aeh Ela'-‘ZT H fraa g oia
LIECEH

e 9
e 11
e 14
e 12
Correct Answer :-11
34)
Question Stimulus :-
Branches of five banks A,B,C,D and E are as follows: / A,B,C,D 3R E U™ aaﬁaﬁammq e % :
1. A, B and C are in Indore and Bhopal. / A, B 3)¥ C $&R T4 Huted # 2|
2. A, B and E are in Indore and Gwalior / A, B 3R E &R Ud WIfeaR # g1
3. B, C and D are in Raipur and Bhopal. / B, C 3R D Wﬂ?@ viurd ﬁ?l
4. A, E and D are in Gwalior and Jabalpur / A, E 3{R D W1feraR U9 9eaqR ¥ g1
5. C,E and D are in Raipur and Jabalpur / C, E 3R D W@W{Rﬁ?l

Branch of which bank is in all places except Gwalior? / f&¥ d& & RmRar IR & 3rarar gt

el A 82

Correct Answer :-C

35)

Question Stimulus :-



Pataleshwara Temple is located at ./ qﬂﬁ%RT Tifex _ A R« %I
® Amarkantak / 3(HYPHCH

® Mandhata / HYTAT
® Nemawar / ﬁ'ﬂﬁ?
® Terahi/ ﬁ?‘eﬁ

Correct Answer :-Amarkantak / 3[HY®hCH

36)

Question Stimulus :-

Who gave the slogan “Jai Jawan, Jai Kisan”? / “ST STdl-, ST far &1 R feaa fear ur?
® Sardar Patel / 9¥qIR q%?f

® Netaji Subhash Chandra Bose IEGIE] JUY Tg CIE)

 Maulana Abdul Kalam Azad / FIQT-T 3GA HATH 3MTHTG

® Lal Bhahdur Shastri / TSl §gTgY A

Correct Answer :-Lal Bhahdur Shastri / @Tel 9gTgR XMRLAT

37)
Question Stimulus :-

Select the option that is true about the Statements and Conclusions given: / 98 faseu gfHQ
Sil 3T T Syl wd el & R § 98 B

Statements: / ®Y-:
All policies are laws / 94 Hifaui &1 &

No law is a rule / ®I§ ST Faw T8 &
Conclusions:/ fAspy:

I. No policy is a rule / I.®Is ifa faw a8 8
II. No ruleis law / II.?ﬁﬁ ﬁ'ﬂﬂwqﬁ%
®* Only conclusion I follows / *ad ey 1 Aeaar %

e Only conclusion II follows / %qd foepy 11 f@adr g



e Both conclusion I and II follows / a1 f=swd I 3R I fA@ad &

e None of the conclusion I or II follows / f=#d I a1 II & 9 #I$ 8 Paar g
Correct Answer :-Only conclusion I follows / Fad ey I feadar g
38)

Question Stimulus :-

Which one of these plays was written by Kalidasa? / 3""|ﬁ ¥ P T ATeP STy gIRT faar T 12
® Neel devi / e &t
® Andhr Nagari / SR TR
e Satya Harish Chandra / I 4%

® Abhijnan Shakuntalam / Gﬁ\mw

Correct Answer :-Abhijnan Shakuntalam / 3THITE JHpaad

39)

Question Stimulus :-

The Konkan Railway is between Mumbai and ___./ PIHUT Yad ,'ﬂ'ﬂ"ﬁ; 3R - & d %I
® Goa/Tal
® Mangalore / HITAR
® Cochin /B

® Kanyakumari / Wﬁ

Correct Answer :-Mangalore / TSR

40)
Question Stimulus :-

A postman has to deliver post in 4 streets. Each street has 10 houses. He takes 1 min
to deliver letter in each house and 5min to travel between each house in each street.
He takes 30 min to go to the next street. His day starts at 9 AM and finishes off by 4
PM, with an hour of lunch break. / T& SITHTH 4 M A STHF TN I R TH A 10 R I T/ R
W T ST 31 ® o fiqe dar @ ok Ui firde yde et § R & &9 amn e | dar 21 30 e
TR et # S H T @1 SHhT o Y 999 T BT @ 3R 49w WeH BT €, 59 9 9% 190
BT qUER & Mo & fore wwg dar 2|



Suppose the postman has to cover only 2 streets with all houses. He started off at 9
AM. By what time will he finish off his work, assuming he took 1 hr lunch break? / A4

difog ot 38 Rid 2 et & IR WY | 93 & §1 39 989 W R AT a1 g & HieH & fig
TS Gl A & 1 9+ B aPH3U-T HIH T fHhar?

e 12 Noon / GIUsY 12 T4

* 1PM /U 1§

* 2PM / QU 2T

e 3PM / QU 3 Ta
Correct Answer :-1 PM / 3IU&R 1 59

Topic:- Mental Ability and Mental Aptitude
1)

Question Stimulus :-

L 1

Correct Answer :-‘H H

2)

Question Stimulus :-



In the ratio 4:7, what positive number should be added to get the ratio as 5:6? / 3JUld
4:7 ¥, B W SFTHS GBI FSl A AR R rguTd 5:6 fira 9@?

® 6

Correct Answer :-11

3)
Question Stimulus :-

Complete the series choosing the missing letter/s: / fAqW &R AP @1 I T BT :_ _
aba _ _ba _ b

® abbbab

® abbaba

® baabbb

® bbabaa
Correct Answer :-abbaba
4)

Question Stimulus :-

The below series uses a sequence of alphabets and numbers. Identify the incorrect

combination. / T & ¥ skaer &Rl U H@IS BT SIHH TANT HRL 8| Tad A Ugar=a|
(i) TR452351781

(ii) TR452351781

(iii) TR452551781

(iv) TR452351781

® j

® ii



® jv
Correct Answer :-iii
5)
Question Stimulus :-

A person gets Rs. x from salary and Rs. 3x from rent. How much does he earn in total?

/ TP 3MeHI B x TUT AT 3 | fired € 3R 3x T fHd | frad €| a8 oo fea-n surar 82

® 4x

® 6x

® 3x

e 4
Correct Answer :-4x
6)

Question Stimulus :-

Complete the series choosing the missing letter/s: / ﬁqﬁ 3&R TP @l G| T DI : a _
b_aabb _a _ _a_bb

® bbaabb

® ababba

® ababab

® bababa
Correct Answer :-ababba
7)

Question Stimulus :-

In a certain code language, zee cin com means king was great; cin bana goap means holy great saint; wisp sean bana
means next holy day. Which is the word for saint in that code language? / ol @ ®is YT ﬁ, zee cin com

T Hddd % king was great; cin bana goap PI HIAd % holy great saint; wisp sean bana PT Hddd % next holy day
| St PIS HTHT | sains & T T 215 B2

® cin

® bana



® goap

®  wisp
Correct Answer :-goap
8)
Question Stimulus :-

What is the minimum number of straight lines required to make the following figure? / IEE]

AHfd B T & o =graw w@n | fea-! @t Y@ o smaxasdar grft?

Correct Answer :-10

9)
Question Stimulus :-

Complete the series choosing the missing number: / QW JBAT FTAHR SGAT B TR BIOMC :

2,5,9,14,__ 27
° 18
e 19
e 20
e 22

Correct Answer :-20



10)
Question Stimulus :-

A student scored 86,92,77,%5 and ?5. mark§ out of 100 in five subj.ects. What is his
average mark? / U O3 1 urd fawal & 100 # | 86,92,77,95 3R 75 3 e fpu| 39 3N9d
3@ 1 g2

e 85

e 82

e 87

e 80
Correct Answer :-85
11)

Question Stimulus :-

Two cards are drawn from the pack of 52 cards. What is the probability that they are kings? / 33[ AT 52 AT B T@

A freTd e | fpasit ST @ f 9 areang 8l?

1

a2

1

21
Correct Answer :-

12)
Question Stimulus :-

In a certain code, GATE is written as HBUF, then how is DEGREE coded? / fordt @ g Pis
#, GATE &I HBUF for@r WiTaT €, 7Y DEGREE &1 3 $Ifsd fopar S ?

e EFHTFE



e EEHTFF
e EFHSFF

e EEHTFE
Correct Answer :-EFHSFF
13)

Question Stimulus :-

A car moves at the speed of 60 km hr. What is the speed of the car in meters per second?/ T HIR 60 fot ufg g

3t 7fa F Tad! 31 Hiex ufa Abs o sR Ft 7fa «n ghfte
) 16§m/sec / 16§1ﬂ/@ﬁ
e 18 é m/sec / 18 gﬁ/ﬁﬁ
® 16 m/sec/ 16 ﬁ/m

® 18m/sec/18 tﬁ/@w

-

Correct Answer :-16 * m/sec / 16 3 Hi/3%s

| ka

14)
Question Stimulus :-

3-6 +9 -13+7+18 =?
° 22
e 18
° 24
® 20
Correct Answer :-18

15)

Question Stimulus :-

An Iron box was brought for Rs. 770.75_and was sold for a profit of Rs. 50.25: Find selling price of Iron
box? / T AIg & a19T PI 770.75 TUA T WIS 74T T 3R 50.25 T4 S 1M & a9 femm mar ur1 A &
T & Taept Feg &1 uar @me?



* Rs.821/821 %W

e Rs.721/721 %W

* Rs.621/621 %W

e Rs.521/521 %W
Correct Answer :-Rs. 721 /721 3Ud
16)

Question Stimulus :-

In a certain code language, Talk to me means Tu Nam Pit; Give me that means Su Ram
Nam; Give to him means Pi Tu Su. Which is the word for Give to me in that code language?
/ Tt @ ®is T ¥, Talk to me &1 Udad & Tu Nam Pit; Give me that &1 Udad § Su Ram
Nam; Give to him ®1Hddd § Pi Tu Su | 33! BIS HIT H Give to me & T w1 =g @2

® Nam Ram Su
® Su Tu Nam

® PiTu Ram

® PiTuSu

Correct Answer :-Su Tu Nam

17)
Question Stimulus :-

The ratio 6:5 expressed as a percentage equals/ Ufa=d & ¥u ¥ 3ffiarad far a1 U 6:5
fha & WER g

® 125%
® 140%
* 120%
* 130%

Correct Answer :-120%

18)

Question Stimulus :-



Two cards are drawn from the pack of 52 cards. What is the probability of getting either a jack of spade or a king of

diamond? / &1 AT 52 AT P TF} T AT 7T 1 §FH PT I[@TH 9T S BT AT¢RME e o a1 82
® 1/26
® 1/13
e 1/52
® 2/13
Correct Answer :-1/26
19)

Question Stimulus :-

In a certain code, TEACHER is written as VGCEJGT, how is PROBLEM written? / f&dt @<
#Ie &, TEACHER 9! VGCEJGT for@r WiTar €, oY 39 ®Is § PROBLEM &1 39 for@r wam?

* RTPDNGP
* RTQDNGO
* PTRDNGP
e RTQENGO
Correct Answer :-RTQDNGO

20)
Question Stimulus :-
Complete the series choosing the missing number: / AW JWAT FAHR SGAT BT TR B :

1,4,9,16,25,
® 35
* 36
® 48
® 49
Correct Answer :-36

21)



Question Stimulus :-

120 candidates appeared for an examination of which 75 passed. The failed percentage is? / Th 1il'F\’c";IT # 120

St F ym foran, fod @ 75 Sl guI Sriol wfer=raar gifr?
® 40%
® 35%
® 45%
* 30%
Correct Answer :-35%

22)
Question Stimulus :-

Which one of the following four addresses is NOT EXACTLY same as the one given below?

/ 7 i M IR vl § € R & T ud & St wuH 911 W T 781 52

Mme Anna Kowalska
Ul. Bosmanska 1
81-116 GDYNIA

POLAND

(i) Mme Anna Kowalska
Ul. Bosmanska 1
81-116 GDYNLA

POLAND

(ii) Mme Anna Kowalska
Ul. Bosmanska 1
81-116 GDYNIA

POLAND

(iii) Mme Anna Kowalska



Ul. Bosmanska 1
81-116 GDYNIA

POLAND

(iv) Mme Anna Kowalska
Ul. Bosmanska 1
81-116 GDYNIA

POLAND

® jv
Correct Answer :-i

23)

Question Stimulus :-

1

A flask holds 1 # liters of tea. How many mugs can be filled with the tea from the flask, if

each mug can hold 250ml of tea? / T% WIR® H I 9T 1 4 wier o JPpdr 8| afe ud® 7 § 9™
PT 250m| 3T IHdl g, df FRP I fhaa 71 W o Ihd 82

° 2
Correct Answer :-5
24)

Question Stimulus :-

A train travels at an average speed of 50 km/h, stopping for 2 minutes after every 75 kms. How long will it take to

reach a destination of 600 kms from the starting point? / Udh 27{ 50 fope/dieT ot sitaa Tt A et %, W 75



Wﬁtﬁaﬂzinwzﬁ——lz%?ﬁﬁwﬁ%l ARYH A F 600 fraHiey gR Tiaod R a& Uga # 34 fovan
|9 ?

® 12 hrs 7 minutes / 12 B¢ 7 fiFe
® 12 hrs 21 minutes / 12 ¢ 21 e
® 12 hrs 14 minutes / 12 9¢ 14 e

® None ofthese/?f-lﬁ'\ﬁaﬁ%qﬁ

Correct Answer :-12 hrs 14 minutes / 12 4¢ 14 fiFe

25)

Question Stimulus :-

A can do a work in 15 days and B can do the work in 10 days. How many days will take to complete the work, if
they do simultaneously? / A U &TH & 15 fa= § RT H Gbar 3 3R B IH 19 & 10 a7 A W1 o
THdl 8 | af¢ d G TP & UG | BT Hd §, 91 B DI W A | fpa o e

° 6days/6ﬁq
e 5days/5 f&
° 9days/9ﬁ7'l
° 8days/8ﬁ7'f

Correct Answer :-6 days / 6 f&7

26)
Question Stimulus :-

The value of 25P, is / 25P, HTHM &
® 600
® 625
® 575
® 550

Correct Answer :-600

27)

Question Stimulus :-



In the following qyesti_on, one term in the number series is wrong. Find out the wrong
term. / A9 Uy #, BN $R@d1 # TP U TAd 8| TAd US I BIoR|

24,27,31,33,36

° 24

° 27

e 31

® 33
Correct Answer :-31
28)

Question Stimulus :-

20% of a quantity is Rs. 400, the quantity equals / T HTAT BT 20% 400 FUY BT §, HTAT $HP SRR B
° 200
e 800
e 2000
e 8000
Correct Answer :-2000

29)

Question Stimulus :-

In a certain code language, bey das kat means wise and clever; das som jona means clever young boy; zup jona oon
means young means fresh. Which is the word for boy in that code language? / fo<ft @ wie vt ﬁ, bey das
kat pT Hddd % wise and clever; das som jona BT Hddd % clever young boy; zup jona oon dT Hddd % young

means fresh | bt wis 'l-quTﬁboy %WWW%"
® som
® das
® kat
® jona

Correct Answer :-som



30)
Question Stimulus :-

A number consists of two digits whose sum is 7. If 9 is subtracted from the number, the digits are reversed. The

number is / T® IWAT Gt 3B A fiade g+t g ST a1 7 §| afe G- § 9 9 et fear 9, i o
Sohiird g wTd §) Wer @

® 43

. 52

® 70

® 61

Correct Answer :-43

Topic:- Science and Simple Arithmetic
1)

Question Stimulus :-

The bar graph below shows the expenditure of a company (in million us$) from 91-99. Answer the questions based on

graph? / 12 feaT 79T IR ATE 91-90 9F HU-t & @ (FIfera g,u ster #) oxifar 31 91w wR enurfa
sl & IR STl

6000
5000 2320
4000 =20 F

3000 - W o0 Expenditure
2000 - | B by a company

1000 + —

u T T T T T T T 1
891- 92- 93- 94- 95- 96- 97- 98-
92 93 94 B85 96 97 98 99

The expenditure in 1997-98 was how many times that in 1994-95? / 1997-98 H @, 1994-95 H @l &7 fora=T 1T
47?



Correct Answer :-1.5

2)
Question Stimulus :-

Which of the following number is divisible by 3? / ﬁl’H A3 CaC| It = 3 9 favrsy %?
® 16215433
® 21279931
® 75913422
® 21546316

Correct Answer :-75913422

3)
Question Stimulus :-

The largest gland in human body is / AT7d IR # Ga& 91 Uy 8
e stomach / 3HTRA
e liver /9%d
* large intestine / 98¢iA
e salivary gland / @R Uf¥
Correct Answer :-liver /d%d
a)

Question Stimulus :-

The area of a semicircle of radius ‘r’ is . /ﬁﬁqT ‘v H \’ﬁhﬁ Cal QW %

w2



m:f'IE
Correct Answer :-

5)
Question Stimulus :-

Name the process in which oxygen is released and carbon dioxide is consumed / 39 uferar &1 919 qddrgu
Ry sifRiie Iafia gl @ sk w1d+ STg3ifarss &1 SUHNT giaT 3

e Respiration / 494

e Transpiration / arsicISI

e Photosynthesis / YT AXATT

e Translocation/ ¥did?
Correct Answer :-Photosynthesis / UTT TRAWT
6)

Question Stimulus :-

The strength of an electro magnet depends on / Th ﬁgqa-w P &HAT TR ik st 2 -

® The current passing through the coil / QTUET'ﬁ J 'ﬂTrRﬁ CI| ﬁg"ﬂﬂ YRT
® The number of coils around the core / ®is # IR SR Iufea ?Usﬁl'!ﬁ CARECs ||

e The material with which the core and the coil is made / T8 g o/ &} HIs iR Puse
fAffa &

® BothA & B / A U4 B giHl
Correct Answer :- BothA & B / A Ud B &l
7)

Question Stimulus :-

The bar graph below shows the expenditure of a company (in million us$) from 91-99. Answer the questions based on

graph? / -T2 fedT 79T IR ITF 91-90 9F HU-t & @ (Fafera g,uw ster ®) oxifar 31 91w wR enurfa
sl & IR difvTul



5000 4320
4000 3720 5580 T
<000 - i o0 Expenditure

2000 - il by a company

1000 + —

u T T T T T T T 1
91- 92- 93- 94- 95- 96- 97- 98-
92 93 94 95 96 97 98 99

The ratio of the number of years, in which expenditure are above the average expenditure, to those in which the

expenditure are below the average expenditure is: / 3 aut 3l I foraw Ea:, 3ﬁ'\‘R‘T E?ﬁ: 3 siftre % aurq
i forad W sivra @l A $H § &1 SuTd 3

® 2:6

® 34

® 35

® 44
Correct Answer :-3:5
8)
Question Stimulus :-

If lines AB, AC, AD and AE are parallel to a line |, then the points A, B, C, D and E / 'CI'% WTE AB, AC, AD Gﬁ?'

AEXET | & FUTGR 8 @1 A, B,C, D3R E fa'g

® forms a quadrilateral / TGYS T §

® are collinear / YW §

* forms a pentagon / UAYST AT %

® forms a triangle / ﬁf‘{-ﬁl CCIG] %
Correct Answer :-are collinear / G %
9)
Question Stimulus :-

The plants need nitrogen to produce protein. They get the nitrogen in the form of / U SUd F4 & ﬁl’E
el P ATSSe B ATIRTSHAl gidl 31 9 ATSCIo ®I 39 U W U Hd §



e Nitrogen gas from the atmosphere / IgHUSH A ATGE I 1

® Nitrate salts from soil in the soluble form / Wﬁﬁﬁﬂﬂﬁ?@?ﬁm
e Ammonia / 3=
e Humus / ga99

Correct Answer :-Nitrate salts from soil in the soluble form / Hal 4 faag wu # H‘I?{é? oqur

10)
Question Stimulus :-

History of agriculture developed at the beginning of / Y ®T 38 ST I=3d H fawfid gam

® Neolithic Period / STdUTVTOT QT

® Paleolithic Period / JRTUTHTOT T
® Iron Age / Fﬁ? i
® Bronze Age / BIH il
Correct Answer :-Neolithic Period / STaUTHIOT T

11)

Question Stimulus :-

What is a line intersecting a circle in two points called? / qd G| ﬁf&"&ﬁ ¥ fgurfora o= arelt v
HgaATd! o?

® Arc / WU

* Sector / UGS

* Secant / BGH

* Radius / F=am
Correct Answer :-secant / ¥G®
12)

Question Stimulus :-

The forest fires in Uttarakhand is an example of/m a1 3ifx DT 3qleul %
® Slow combustion / e Qo



® Rapid combustion /aW
® Spontaneous combustion / ¥dd: g
® Explosion /ﬁ?ﬁ?
Correct Answer :-Rapid combustion /aﬁﬁ

13)

Question Stimulus :-

The rearing of silkworms for obtaining silk is known as / I YT A & 'PQ'ITI IYM-BIT & YT Bl ars?r % -
® Apiculture / Fw CIGE]
® Sericulture / ITH IdTGd
® Horticultrue / CIRICIG]

e Silviculture / a9

Correct Answer :-Sericulture / I IS

14)
Question Stimulus :-

The bar graph below shows the expenditure of a company (in million us$) from 91-99. Answer the questions based on

graph? / = 3T 4T IR WTW 91-99 9% HuU- & Wd (Fuferas g.vw ster #) <xifar 81 Im% W smenfya
"l & IR el

5000 2320

4000 iy 5560 [ —

<000 - i o Expenditure
2000 - il by a company

1000 + ]
u T 1 1 1 1 T 1 1
91- 92- 93- 94- 95- B8B- 97- 98-
82 93 94 95 98 97 988 99

For which year, the percent increase of expenditure over the previous year is the highest? /ﬁ%ﬁ a'ﬁf @t LRI s

fru af & @<l ¥ gfs wod wmar g8 @

® 92-93



® 93.94
® 94.95
® 96-97

Correct Answer :-92-93

15)

Question Stimulus :-

To draw water from a well, the rope is being / ?}'Q LRICIRECIGER: D ﬁﬁ, XA Y
® Pushed / WTGI'IHT%
e Pulled / WiaT ST 3
® Pushed or pulled / 4B AT T VAT ST ?
* Pushed & pulled / YT 3R EiaT oI1aT &
Correct Answer :-Pulled / Si¥dT &Il §
16)

Question Stimulus :-

pEm

gxn

If p/q = then statement is true. /

Correct Answer :-m=n

17)

Question Stimulus :-



The bar graph below shows the expenditure of a company (in million us$) from 91-99. Answer the questions based on

graph? / -1 faT 19T IR TP 91-99 99 Hu-t & T (Fufera g.ow sfer #) gxifar 81 ITw W enurfva
sl & IR difvTu)

5000 3320
2000 = 33803150 | [ | [3120

5000 - 1 o0 Expenditure
2000 | il by a company

1000 - —

u T T T T T T T 1
91- 92- 93- 94- 95- B86- 97- 98-
92 93 94 95 96 97 988 99

The expenditure in 96-97 were approximately what percent of the expenditure over the period under review? / 96-97

Dt afy ® gu =l BT AU fpan ufa=a Sirg & = ur?
* 95%
* 110%
* 115%
* 125%
Correct Answer :-125%
18)
Question Stimulus :-

The angle of incidence for a reflection from a mirror is found to be 459, What is the angle between the reflected

rayandtheincidentray?/wmﬁm%mmﬂﬁm45%"ﬁqTQTTI'QT%IWﬁ'ﬁ?‘l’waﬁ?
mafaa fopvor & ot &1 HYor 1 FIm?

e oo
® ()

o 45

e 180"

Correct Answer :-90°

19)



Question Stimulus :-

Choose the statement that is wrong about *Metamorphosis' / 3 DY BT II aﬂﬁqvﬁ BIYTARIr & IR |
e @

® [t is the transformation of an egg to adult / UG 38 | qUTH BT uladd %

® Egg directly hatches out in to an organism, with the same adult features / 3{ST dter T Sfta ¥, 38l
3if & 1Y St TP TP | g1 §, ITEY T 7

® [t passes through different stages / d@ fafira =on @ oI %

® The features of each stage of development is very different / g% dRUI & fawrg 91 ﬁ'ﬁm i %

Correct Answer :-Egg directly hatches out in to an organism, with the same adult features / 3fsT Idtem Udh

Sitg 9, 38 faxiuarsit & 91y S U 993 & gId ©, 9TgY a1 &

20)
Question Stimulus :-

Manoj received Rs. 6000 as his share out of the total profit of Rs. 9000 which he and
Ramesh earned at the end of one year. If Manoj invested Rs. 20000 for 6 months, whereas
Ramesh invested his amount for the whole year, what was the amount invested by
Ramesh? / 9000 ¥UT & $d ATH ® A {1 A 30 3 & FU # 6000 FUY U fvd, ford 39 wd
I A TH ¥ & 3id A sifela fran afe 7w 3 6 wEHl & forw 20000 FuT A fd wiafe w@=r o+t
AR B R ad & g Az G, = g1 FafRa afd & de

® Rs. 4000
® Rs. 10000
® Rs. 5000
® Rs. 6000
Correct Answer :-Rs. 5000
21)
Question Stimulus :-
What is the importance of Rhizobium? [ ITSSNSUH BT HT HEd &2

® [t turns compounds of nitrogen in to gaseous nitrogen / g qﬁ@ﬁ? ¥ Hifrel o Ria qﬁ@ﬁ? |
e 3

® [t fixes atmospheric nitrogen / 4% HTQ'HG?ﬂ'q T'I'E@ﬁ:l o fRR Fear @
® It promotes ammonia formation / dg 3T fmfor &Y deldl %



® [t enhances decay of organic materials / g aﬂ W'*‘-ﬁ a7 &g aﬁ deldl %
Correct Answer :-It fixes atmospheric nitrogen / 98 aIJHSHIT ATgeIo &I fRR FHar @
22)
Question Stimulus :-
log _=:-"-’=D'E, then the value of x is / log;,x=038 dal x BT HE Ul
® 25.6
® 16
® 10
® 12.8
Correct Answer :-16
23)
Question Stimulus :-
A monthly installment of Rs.180 is required to be paid for repayment of an interest fee loan in 40 months. If it is
decided to pay it in 30 months, how much will be the monthly installment in rupees? / 180 I F HIfYP fpa
40 WEH W =TS Y[eP BT B reraift & g ywrar fvar s smawas 81 afe as fAf¥a 3 fF 30
AL § SHST YA BT 3, a1 AT e fpaq T0 &t gt
® 60
® 240
® 330
* 300
Correct Answer :-240
24)
Question Stimulus :-

The sound from the bee is produced when its wings vibrates at 360 vibrations per second. The Time Period of
the vibration would be / AYARS ¥ afy HT I a9 g1 & W9 I8 U4 UH gRT U4 AP & 360 HUT
Hdl g1 HUT Pt TUT Ay ghf :

* 1/6

e 1/36



e 1/360
* 1/216

Correct Answer :-1/360

25)
Question Stimulus :-

The bar graph below shows the expenditure of a company (in million us$) from 91-99. Answer the questions based on
graph? / 12 fadT 74T IR ATE 91-90 9% HU-t F @ (Fuferas g,u ster #) gxifar 31 9w w enurfia
w4l & IR il

5000 2320

4000 3720 3366 T

3000 - (1 o0 Expenditure
2000 4 Nl by a company

1000 - —
D T T T T T T T 1
91- 92- 93- 94- 95- B96- 97- 98-
82 93 94 95 96 87T 988 99

What was the percentage increase in the expenditure in 1997-98 over 1993-94? / 1993-94 CRCEE g m&&r 1997-98 H

@l & R wfererd @1 o g8 a2
* 100
* 150
* 200
* 620
Correct Answer :-100
26)

Question Stimulus :-

Ifo0 = b 909, the value of cos e lies in the interval /a0 = s 90°,

cos o BT HH & 3faRTe § gHm|

° 10,2]



* [-1,0]

° [1,2]

* [0,1]
Correct Answer :-|0, 1]
27)

Question Stimulus :-

Which of the following materials will you prefer for replacing the broken handle of your bread toaster? /§3 W &

¢ U oUSd 3! 9gaq & forg oma o # & @19 9 vard & wiig s
* Brass /Wida
® Copper / didl
* Aluminium / TegHIfaH
* Wood / APHSI
Correct Answer :-Wood / @Hs!

28)
Question Stimulus :-

Which of the following options gives the area of the parallelogram given in the figure? / %E Ry CER:] f i

DI 91 fIwer guiaR gy &1 &owd gRitdr 82

® 1 % BE *AD
® BE * AD
® 2%(AD+DC)
e AD *DC
Correct Answer :-BE * AD

29)



Question Stimulus :-

The temperature of hot water is measured using / T Ui &1 A T SUDUT & UUNT |V /YT ST @
® (linical thermometer / ﬁaﬁﬁ? ygidier
® Digital thermometer / f&foTea yqiHier
® Maximum-minimum thermometer / arfﬁm-qaaw yfifes
® Laboratory thermometer / TARTRITET YHiHeR

Correct Answer :-Laboratory thermometer / TN YH iR

30)
Question Stimulus :-

The organism which contantly changes its shape and position is / 98 &9 ¥ 5iig § S AR
3 PR 3R R F agaar 32

e Euglena / el
e Amoeba / 3Har

e Paramoecium / RTHR7H
e Cyanobacteria / 9TgATaad AT

Correct Answer :-Amoeba / 3rHtar
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